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$QDOLVLV�$QJJDUDQ�%LD\D�3URGXNVL�6HEDJDL�$ODW�3HQJHQGDOLDQ�%LD\D�3URGXNVL�3DGD�

+RPH�,QGXVWU\ ,VPL

1DPD ��1DGLOD�<XQLWD�3XWUL

3HPELPELQJ� ��1D\DQJ�+HOPD\XQLWD��6(��0�6F

7XMXDQ�GDUL�SHQHOLWLDQ�LQL�DGDODK�XQWXN�PHQJHWDKXL�SHQJJXQDDQ�DQJJDUDQ�VHEDJDL�DODW�

SHQJHQGDOLDQ�ELD\D�SURGXNVL�SDGD�+RPH�,QGXVWU\ ,VPL�

3HQHOLWLDQ� LQL� PHQJJXQDNDQ� EHQWXN� SHQHOLWLDQ� NXDQWLWDWLI� GHQJDQ� VWXGL� NDVXV \DLWX�

PHODNXNDQ�VXDWX�SHQGHNDWDQ�<DQJ�PHQJDPELO�VXDWX�REMHN�SHQHOLWLDQ�XQWXN�GLFHUPDWL�VHFDUD

LQWHQVLI�GDQ�PHQGDODP�VHKLQJJD�GLSHUROHK�JDPEDUDQ�OHQJNDS�PHQJHQDL�REMHN�SHQHOLWLDQ�GDQ�

SHUPDVDODKDQ�\DQJ�EHUNDLWDQ�GHQJDQ�REMHN�WHUVHEXW��3HQHOLWLDQ�LQL�GLODNXNDQ�GHQJDQ�PHWRGH�

ZDZDQFDUD�� REVHUYDVL�� GDQ� VWXGL� NHSXVWDNDDQ� XQWXN� PHQJHWDKXL� SHQJJXQDDQ� DQJJDUDQ�

VHEDJDL� DODW� SHQJHQGDOLDQ� ELD\D� SURGXNVL�� 'DWD� GLDQDOLVLV� GHQJDQ� PHQJJXQDNDQ� WHNQLN�

DQDOLVLV�NXDOLWDWLI��\DLWX�SHQMHODVDQ�DWDX�NHWHUDQJDQ�WHQWDQJ�KDVLO�SHQHOLWLDQ�VHUWD�XUDLDQ�\DQJ�

PHPEDQGLQJNDQ�DQWDUD�WHRUL�GDQ�SHQHUDSDQ�GL�ODSDQJDQ�

%HUGDVDUNDQ� KDVLO SHQHOLWLDQ� \DQJ� GLSHUROHK� GDSDW� GLNHWDKXL� EDKZD� SHQJHQGDOLDQ�

ELD\D� SURGXNVL� SDGD�+RPH� ,QGXVWU\� ,VPL� EHOXP� FXNXS� EDLN�� NDUHQD� WHUGDSDW� XQIDYRXUDEOH�

SDGD�WRWDO�ELD\D�SURGXNVL��+DO�LQL�PHQ\HEDENDQ�NHUXJLDQ�EDJL�SHUXVDKDDQ�GLPDQD�ELD\D�DNDQ�

PHQLQJNDW� GDUL� \DQJ� VXGDK� GLLDQJJDUNDQ� VHEHOXPQ\D�� 2OHK� NDUHQD� LWX� SHQXOLV� PHODNXNDQ�

DQDOLVLV�DQJJDUDQ�VHEDJDL�DODW�SHQJHQGDOLDQ�ELD\D�SURGXNVL�


